OPENNET -V : Entrance Test for

Diploma in Nautical Science leading to B.Sc. (Nautical Science)

Total No. of Questions = 100

2006

— All questions are compulsory.

—  Use of calculator is not allowed. Rou

of the Test booklet.

—  The Test booklet has the

following 5 tests :

Tests ‘No. of Questions Marks
I - Reasoning Aptitude 20 20
IT - General Knowledge 20 20
IIT — Mathematics 20 20
IV - English 20 20
V - General Science 20 20

Read the instructions given on the OMR Answer Sheet carefully before you start.
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Time : 3 Hours

gh work may be done in the space provided at the back
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HOW TO FILL UP THE INFORMATION ON THE ENTRANCE TEST OMR ANSWER SHEET

While filling up the OMR Answer Shéet, 'you should follow the follbWing_ guidelines :

1.

Write your complete Roll Number. This should correspond to the roll number already
supplied to you. Also write your correct name, address with pin code in the space
provided, in ink. Put your signatures on the Answer Sheet with date, in ink. Ensure
that the Invigilator in your examination hall also puts his signatures with date on the
OMR Answer Sheet at the space provided. You should use HB pencil to mark the
answers of the questions on the OMR Answer Sheet.

Do not make any stray marks on the OMR Answer Sheet.

Write correct information in numerical digits in Roll No., Programme Code, Date and
Month and Examination Centre Code Columns. The column of Course Code should

» be left blank. The corresponding rectangle should be dark enough and should be filled

in completely.

Each question is followed by four probable answers which are numbered 1, 2, 3 and 4.
You should select and show only one answer to each question considered by you as the
most appropriate or the correct answer. Select the most appropriate answer. Then by
using HB pencil, blacken the rectangle bearing the correct answer number against the
serial number of the question. If you find that answer to any question is none
of the four alternatives given under the question you should darken the
rectangle ‘0.

If you wish to change your answer, ERASE completely the already darkened rectangle
by using a good quality eraser and then blacken the rectangle bearing your revised
answer number. If incorrect answer is not erased completely, smudges will be left on
the erased rectangle and the question will be read as having two answers by the
Optical Mark Reader (OMR) and will be ignored for giving any credit.

No credit will be given if more than one answer is given for one question. Therefore,
you should select the most appropriate answer.

You should not spend too much time on any one question. If you find any particular
question difficult, leave it and go to the next. If you have time left after answering all
the questions, you may go back to the unanswered ones.

There is no negative marking for wrong answers.
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GENERAL INSTRUCTIONS

1. Mobile Phones, calculators, books, slide-rules, foot rulers, note-books or written notes,
etc. are not allowed inside the examination hall.

2. You should follow the instructions given by the Centre Superintendent, observers and
by the Invigilators at the examination venue. If you violate the instructions you will
be disqualified.

3. Any candidate found copying or receiving or giving assistance in the examination will
be disqualified.

4. The Test Booklet and the OMR Answer Sheet would be supplied to you by the
Invigilators. After the exam is over, you should hand over the Test Booklet and
the OMR Answer Sheet to the Invigilator before leaving the examination hall.
Any candidate who does not return the Question Booklet and the OMR Answer Sheet

- will be disqualified. ’ '

5. Candidates arriving late will not be permitted to enter the examination hall. The
reporting time is 9.15 A.M. The examination will start at 10.00 A.M. and will be over
at 1.00 P.M.

6.  All rough work is to be done on the test booklet itself and not on any other paper.
Scrap paper is not permitted. For arriving at answers you may work in ’the margins,
make some markings or underline in the test booklet itself.

7.  The University reserves the right to cancel scores of any candidate who impersonates
or uses malpractices. The examination is conducted under uniform conditions. The
University would also follow a procédure to verify the validity of scores of -all.
examinees uniformly. If there is substantial indication that your performance is not
genuine, the University may cancel your score.
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41.

42,

43.

44,

. 45.

46.

TEST III
MATHEMATICS

If the base of a triangle is doubled and helght is halved, its area will be
( 1) doubled ~ (2) halved
(3) one-fourth (4) same

'Find the value of k for which x = 2 is a solutlon of the equation

kx? + 2x — 3 =0. K
(1) 025 (2) — 025
3) 05 4) 10

— A A A - A A A : :
‘The vectors A =2i +xj + k and B =3i + J + k are perpendicular to each other
for ' :

) x=—6 - @ x=6
B3 x=17 : “4) x=—17

" The following pie chart shows the annual agncultufal production of an Indian state. If the

total production of all the given commodities is 96000 tonnes, then the production (in
tonnes) of rice is

(D
3

(2) 16000
(4) 1600

The mean weight of a group of seven boys is 56 kg. The 1nd1v1dua1 weights (in kg) of six of
them are 52, 57, 55, 60, 59 and 55. The weight of the seventh boy is

(1) - 45 kg o (2) 55 kg
(3) 54 kg o . (4) None of these

A tower is 100/3 metres high. The angle of elevatlon of its top from a point 100 metres -
away from its foot is

(1) 30° (2) 45°
(3) 60° : @) T5°
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47,

48.

49.

50.

51.

52.

53.

1 1

The value of 5 +
(1+tan“6) 1+ cot? 9)

(1) sin 30° ' (2) sin 45°
(8) sin 60° (4) sin 90°

The value of x in the following figure is

1) 65° @ 80°
(3) 60° ) 70°

A man goes 15 metres due west and then 8 metres due north. How far is he from the
starting point ?

(1) 23m | (2 16m
® 17m 4 20m

A two-digit number is 4 times the sum of its digits and twice the product of its digits. Find

the number.
(1) 63 _ 2) 36
3) 24 4 12

The length of a tangent from a point 13 cm away from the centre of a circle whose radius
is 5 cm will be

(1) 65cm (2) 60 cm

(3) 144 cm (4) V194 cm

The product of two numbers is 168 and their difference is 2. Their sum is‘
1 39 - (2) 36

(3) 26 (4) 29

When 60% of a number is added to 60, the result is number itself. The number is
(1) 80 (@ 120
(3) 140 (4) 150
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54.

55.

56.

57.

58.

59.

60.

(3 13 ; 4)

) 4 . .
If 1 is added to both numerator and denominator of a fraction, it becomes 5 and if 5 is-
subtracted from both numerator and denominator, it becomes % The fraction is

(1) (2)

3) 4)

& w o
olol |3

The areas of three mutually adjacent faces of a rectangular box are known. The product of
these areas is equal to '

(1) the vplume of the box '
(2) twice the volume of the box
(3) the square of the volume of the box

(4) cube root of its volume

If x+l=3, then 5
X x“+1

1 9 (2)

Eo-‘l,_. Wik -

How many 3-digit numbers can be formed by using the digits 0, 2, 3 without repetition ?

1 4 2 3

@ 5 - @ s

The function f{x) = x_:_; — x has a minimum at
(1) x=4 ’ : ’ 2 x=—1
3) x=1 ) 4 x=—4

If 25 x (v5)2 x (J5)3 =545, then the value of a is

W) —4 ' @ 3

3 4 4) 5

IfAisa2x3 matrix., Bis a 4 x 2 matrix and C is a 8 x 3 matrix, then
(1) AB + C is defined (2) CB + A is defined
(3) CA is defined  (4) BA+C is defined
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